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4. (5 points) Define “linear transformation”. Use complete sentences. W =
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5. (b points) The trace of the square matrix A is the sum of the numbers on its
main diagonal. Let V' be the set of all 3 x 3 matrices with trace 0. The set
V' is a vector space. You do NOT have to prove this. Give a basis for V. NO
justification is needed.
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6. (5 points) Give an example of a matrix which is not diagonalizable. Explain
why the matrix is not diagonalizable.

A:ﬁé”’ is nd diageliatle, The oaly ccalae df = A-o
‘ 0
1, -t fot # f;c(vegz‘zjh - i cd b L)

T4 A wete dicgonl] bl (T won ({ hace fo 4(:(@{_
foo Iémoaels (adefeadrar  €voctos. Bel Lf cbtia ™,



